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TrigonometryExercise4 for No.9395

X

2
I
B 2 2 ] P
.1=28in(15°) Cos(15°) .2=Cos(22.5°) — Sin(22.5°) v
2 S
b (= Sn n) (5=
- - 3=2 Cos(—] -1 4= Sln(—j Cos[—j + Cos(—j S1n(—] LLS 1]
7n 12 9 36 9 36 &
.1 =Cos(15%) .2=Sin| — . . %
12 o o Tan(—j - Tan(—j M
231 Tan(25%) + Tan(5") 30 15 a
.3 =Tan(75°) .4 = Sin| JS= R R 6=
Nol = 12 , No2 = 1 — Tan(25°) Tan(5°) Tn T , , !
o o 1+ Tan| —— | Tan| T h
.5 =Csc((-15)°) .6=Tan((-195)%) 30 15
17n 7n 2 Tan(22.5°%) 5 o ) o a o @
.7=Cot T .8=Cos 12 T=m 5 .8 =Cos(70°) Cos(10°) + Sin(70°) Sin(10°) M
- - 1 — Tan(22.5%) U
2
ks LL T 1]
.9 =Cos(78°) Cos(12°) — Sin(78°) Sin( 12°) A0=1-2 Sin(gj B
L J "
b
L o
[ T 3 n} [ 3w b }
A=0,B=—",C=n,D="— A=—""B=2n,C="_",D=n
2 2 2 2
. 5 1 , 4 3
Condl =| Sin(a) =— |, Cond2 =| Cos(B)="" Condl =| Sin(a.) =—" |, Cond2 =| Cos(B) ="
No3 = 8 34 Nod = o 7
.1=Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(P)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(P) 4 =Sin(a + )
S5=Cos(aa+fB) .6=Tan(a—B) S=Cos(p-a) .6=Tan(a—p)
L .7=Cos(2B) 8=Tan(2 o) ] L .7=Sin(2 a) 8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(34°) = 0.829), Question = Sin(17°)], ,| U
T
M
No6 = [ Cond = (Cos(78°) = 0.208), Question = Cos(39°)], ,| U
T

[Page = 0001]

);0:0:0:9:9.0.0:9:9:9.0,0:0:9.9:0.0.0.:0:9:9:0.0.0:9.9,0.0.0:0:9:0.0.0.0:9:9:0.0.0:0.9,0,0.0.0:9:9,0.0.0.0.:9,0.0.0:0:9.9,0.0.0:0.9:9.0.0.0:9:9.0.0.0:0.9:0,0.0.0:9:9.0.0.0.:9.9,0,0.0:0.:9:9.0.0.0.:0.9.9.0.0:0.:9:0.0.0.0:0:9:0.0.0.0:0:9:0.0.0:0.:9.0,0.0.0:0.9.9.0.0.0:9:9.0.0.0:0.9,0.0.¢



):0:9:0:9:9:0.9:9:9.9:0.9.0:9.9.9.0.9:9.9.9:9.0.0:9.9.9.0.0.:0:9.9.0.0.0.:0.9.9.0.0:0.9.9:0.0.0:0.9,9.0.0:0.9.9.0.0.0:0.9,9.0.9.0.9.9.9.0.0.0.9.0.0.9.:0.9.9.9.0.0:0.9.9.0.0:0.0.9.9.0.0:0.9.9.0.0.0.9.9:0.0.0:0.9.9.0.0.0.:0.9.0.0.0.:0.9.9.0.0.0.0.9,9.0.0:0.9.0.0.0.0:0.9.9.9.0.0:0.9.9.0.0:0.0.9.0.0.0:0.9.0.0.9:0:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXKXXXXXXXXXXKXKKXXXXXK XXX KKKXX KK XK XXX KK KK KKK KKK XX KKK KKK KKK XXX KKK KKK KKK XXX KK KKKKKKKKME /1-6500304-00002XX

TrigonometryExercise4 for No.9419

[ 2
) . .1 =1-28in(22.5°)
T . o
-1=COS[EJ 2 =S8in(757) __Tan(15°) + Tan(30°)
Tn 17n 1 — Tan(15°) Tan(30°)
3=Tan| T .4 = Csc| . o o or - o
Nol = 12 12 , No2=| .5=Sin(12") Cos(78") + Cos(12”) Sin(78")
.5 =Sin((-195)°) .6 =Sec((-105)") B 2 Tan(15°)
177 231 - 0.2
.7=Tan[——J .8:Cot[ J 1 —Tan(15%)
L 12 12 /|
(7n b Tm) .
.9=Sin| — | Cos| 7~ | - Cos| — | Sin
L 12 12 12
~ - - _ _
[A:O,B:—,Cz—,D:n}
2 2
4 . 3
Condl =| Cos(a) =~ |, Cond2 =| Sin(B) =T
No3 = 7 7 , ,No4=
.1 =Sin(a) .2=Cos(PB)
3 =Tan(a) 4=Sin(f-a)
S5=Cos(aa+fB) .6=Tan(a—B)
L .7=Sin(2 B) .8=Tan(2 o) ] L

No5 = [ Cond = (Cos(70°) = 0.342), Question = Sin(35°)],

No6 = [ Cond = (Cos(46°) = 0.695), Question = Cos(23°)], ,
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i b
2=2 Sin(—] Cos[—j
8 8

. 2
.4:2Cos(—) -1
12

oo 2ol

)
12

3n 37
AZT’BZZTLC:TE,D:—

.1 =Cos(a)
.3 =Tan(a)
5 =Cos(a+B)
.7=Cos(2 a)
M
U
T

M
U
T

2 2
.10 = Cos(15°) - Sin(15°)

2

[Cond] = [Sin( o) = ?j Cond?2 = (COS( B)= ZIH

.2=Sin(B)
4=Sin(f-a)
.6=Tan(a —B)

.8=Tan(2B)

i

18

.6 = Cos(40°) Cos(10°) + Sin(40°) Sin(10°)

)

>
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TrigonometryExercise4 for No.9428

B 2 2 2 ]
1=2Cos(22.5°) —1 2=Cos(15°) — Sin(15°%)

(5= T 5n)  (=w Tan(15°) + Tan(30°)
- _ .3=Sin| — | Cos| — |- Cos| — | Sin| — 4= LLS 1]

(SRJ 18 9 18 9 | — Tan(15°) Tan(30°)
I =Sin| — .2=Cos(15%) o o ¢

Tan(55”) — Tan( 10
12 5=2 Sin(EJ cOs(lj - —en(33 )~ Tan(10)
1 + Tan(55°) Tan(10°)

3 =Tan(105° 4=C ( D n]
.3 = Tan( ) .4=Csc|l— 12 )| No2= i ) ’ ’
5= COS( 3450) 6= Tan( 1950) 7=1=-2 Sm(—] 8= COS( 400) COS( 200) - Sm(40°) Sln(ZOO)

12
[ llnj [ nj
7=S8in| ———— .8=Sec| ———
L 12 12) |

el )

Nol =

B N N R O I N T RN 2L TR VISR KO

18 9 18 9 T 2 LT ]]
l—Tan(—)
L 8 J
[ { T 3n } i [ [ b1 3n} i _ _
A=0,B=—C=—,D=2n A=—B=nC=nD=—"
2 2 2 2
o= (siar=3 fcmiz=[conm 3] comr = coter= ) coniz=sm=3 |
Condl =| Sin(at) =7 |, Cond2 =| Cos(B) =T Condl =| Cos(a) =", Cond2 =| Sin() ="
No3 = 2 71 Noa = 7 7
.1 =Cos(a) .2=Sin(P) .1 =Sin(a) .2=Cos(p)
.3=Tan(pB) 4=Sin(a+B) 3 =Tan(P) 4=Sin(f-a)
S=Cos(aa—B) .6=Tan(f—-a) S=Cos(aa—P) .6=Tan(a+p)
L .7=Cos(2 B) .8=Tan(2 o) ] L .7=Sin(2 a) .8=Tan(2 ) ]
M
No5 = [ Cond = (Cos(24°) = 0.914), Question = Sin(12°)], ,| U
T
M
No6 =[ Cond = (Cos(74°) = 0.276), Question = Cos(37°)], ,| U
T
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TrigonometryExercise4 for No.9459

2 Tan(22.5°%)

2
1 — Tan(22.5%)

Tan(70°) — Tan(10°)
1 + Tan(70°) Tan(10°)

_ s _Q: o | T : 2 -
'I—C“(uj -2 =8in(1057) .3:1—2sm{g 4=2Cos(15°) — 1 &
5w ) 197 .
S=Tan| "] .4=Sin| -~ 5= ZSm( JC%( ] .6 = Sin(30°) Cos(15°) + Cos(30°) Sin(15°)
Nol = , No2 = 12 12
o 231 51 n
5=Cos((-75)") 6 = Cot 12 Tan( j+Tan[_j
36 36 2 L2
Y I1=n = .8=Cos(22.5") —Sin(22.5%)
.7=Sec((-195)") .8=Csc 57 L3
L 12 ) | 1 — Tan| —— | Tan|
36 36

[Cbnd]z(sm(a)—
1
3

A=0,B=

s

]

2n T 2
9= Cos( ] Cos[ J + Sin(—
9 18

n } 1
C=—"D=n
2

Cond?2 = [COS(B)Z%?)}

T
9

T

ol

18

)

|

[Cond] (Sm(a)— j Cond?2 = [COS(B):?H

-cof 5o )-su{ 355

3n 3n}
Af—BZnCnD—
2 2

No3 = , ,No4=
=Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(P)
=Tan(a) 4=Sin(a +B) 3 =Tan(a) 4 =Sin(a + )
S=Cos(p-—a) .6=Tan(a—B) S=Cos(aa—B) .6=Tan(f—-a)
L .7=Sin(2 o) .8=Tan(2 B) ] L .7=Cos(2B) .8=Tan(2 o) J

M

No5 =[Cond = (Cos(8°)=0.990), Question = Cos(4°)], ,| U

T

M

No6 = [ Cond = (Cos(82°) = 0.139), Question = Sin(41°)], ,| U

T
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TrigonometryExercise4 for No.9476

)
i
~ _ P
Tan(55°) — Tan(10°) Iln T (1w} (= v
1= .2=Cos Cos| — |+ Sin Sinf —
1 + Tan(55°) Tan(10°) 18 9 18 9 s
- _ 2 LLS 1]
T
.I:Sin(sl—;j .2=Cos(15°) .3=Sin(72°) Cos(12°) — Cos(72°) Sin( 12°) ,4:2Cos(aj -1 &
M
3 =Tan(105") .4 =Sin((-255)") .5=28in(22.5%) Cos(22.5°) fo—2Tam32) a
Nol = 197 0. | No2 = 1-T 22502 ’ ’ !
5=Sec| ——— | .6=Tan((-345)%) an(22.57) 5
12 P P
131 s Tang +Tan§ ) ) @
.7 =Cot| — 2 .8 =Csc(2557) 7= ,8:COS[_] —Sin(—) M
- - e T 8 8 U
1 —Tan| — | Tan| —
9 18 LL 7 1]
2 .
L .9=1-28Sin(15°) .10 =Sin(12°) Cos(33°) + Cos(12°) Sin(33°) ] J
o
2
L
T 3n T 3w
A=0,B=—C=—,D=21 A=—B=nC=nD="—"
2 2 2 2
2 . -4 -5 . -1
Condl =| Cos(a) =T~ |, Cond2 =| Sin(B)="" Condl =| Cos(at) =", Cond2 =| Sin(B) ="
No3 = 7 91 No4= 9 5
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
.3=Tan(pB) 4=Sin(f-a) 3 =Tan(P) .4 =Sin(a + )
S5=Cos(aa—fB) .6=Tan(a+ ) S=Cos(aa—B) .6=Tan(f—-a)
L .7=Sin(2 B) 8=Tan(2 o) ] L .7=Cos(2 o) 8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(36°) = 0.809), Question = Sin(18°)], ,| U
T
M
No6 = [ Cond = (Cos(62°) = 0.469), Question=Cos(31°)], ,| U
T
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TrigonometryExercise4 for No.9491

.1 =Sin(48°) Cos(12°) + Cos(48°) Sin(12°)

b
2 Tan(—J
_ 8

2 2
b (m

.2=Cos| —| — Sin| —
8 8

)

o

P

V

S
_ (177:} (Sn) ,Enn) ,ESnJ LS
A o = 3 .4=Cos Cos| — |+ Sin| Sin| — &
.I:Sm[—J .2=Cos(75%) n 36 36 36 36 L
12 l—Tan[—j M

3=T (nj 4= Cos((-255)°) ' .

.3 =Tan| —— .4 =Cos((-

Nol = 12 , No2 = 5=1-2Sin(15%) 6= 2Sln( jCos[ij S !
5 S’[ Snj p Ct(”nj 12 h
5 =Sin| -—— .6=Co

12 12 722 Cos(22.5°) — 1 SICOS(EJCOS( )—Sm(£ Sm[—j %
.7 =Tan((-195)°) .8=Csc((-345)°)] 9 18 9 18
Sn o U
Tan[z}-rTan(g] L 7]]
.9 =Sin(42°) Cos(12°) — Cos(42°) Sin(12°) = e 2)
1- Tan(—nJ Tan[l] N
L 36 9 ]
)
L
[ [ b b } i i [ 3n 3n } i
A=0,B=—C=—D=n A=mn,B=—,C="—",D=2n
2 2 2 2
[comar=[snier =) comz={coxpy=3 || o= ot = consz=( s 3
Condl =| Sin(at) ==~ |, Cond2 =| Cos(B) =" Condl =| Cos(at) =", Cond2 =| Sin(B) ="
No3 = 6 7 . Nod = 5 2
1=Cos(a) .2=Sin(P) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(P) 4=Sin(f-a)
S5=Cos(aa+fB) .6=Tan(a—B) S5=Cos(aa—B) .6=Tan(a+ )
L .7=Sin(2 a) 8=Tan(2B) ] L .7=Cos(2 o) 8=Tan(2 B) ]
M
No5 =[Cond = (Cos(74°) = 0.276), Question = Cos(37°)], ,| U
T
M
No6 = [ Cond = (Cos(12°) = 0.978), Question = Sin(6°)], ,| U
T
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TrigonometryExercise4 for No.9633
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(7 b Tn) (=n T
1 =Sin| — | Cos| 7~ |- Cos| /| Sin| —— 2=2Cos| | -1
30 15 30 15 12
2 2
I=COS7—n 2=Sin(15%) T LT n n P AT P
: 12 ) .3=Cos| — | —Sin| — .4 =Cos| — |Cos| — |+ Sin| — | Sin| 7~ i
8 8 3 12 3 12

3=Tan(75°)  .4=Sin((-75)°) 2 Tan(15%)

SR NTE@ s~ ERrun U

Nol = 237 oo No2= .5=218Sin(22.5°) Cos(22.5%) 6= p A ,
.5=Cot B .6 =Sec((-345)°) 1 = Tan(15°)
.7:Csc[—13—nj .8=C0S(—7_n] 7= Tan(70) - Tan(10) .8=C0S£1J Cos(ﬂ)—SinELJ Sin(4—n]
L 12 12 )] 1 + Tan(70°) Tan(10%) 18 9 18 9
) 02 Tan(25°) + Tan(5°)
9=1-2Sin(15") 0= LL T 1]
L 1 —Tan(25°) Tan(5°) ]
[ [ b3 375} ] [ [ b3 3w } i _ —
A=0,B=—",C=n,D="— A=—",B=n,C=—",D=2n
2 2 2 2
[comar=[cosar=g) comz=(smop =] | comr = smar= ] conse={ o
Condl =| Cos(at) =7 |, Cond2 =| Sin(B) =" Condl =| Sin(a) == |, Cond2 =| Cos(B) ==
No3 = 2 T/ Nod = > ?
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2 =Sin(B)
.3 =Tan(P) 4=Sin(f-a) 3 =Tan(P) .4 =Sin(a - )
S=Cos(au+p) .6=Tan(a—P) S=Cos(p-a) .6=Tan(a+f)
L .7=Sin(2 B) .8=Tan(2 ) ] L .7=Sin(2 B) .8=Tan(2 o) ]
M
No5 =[ Cond = (Cos(18°) =0.951), Question = Cos(9°)], ,| U
T
M
No6 =[ Cond = (Cos(44°) = 0.719), Question = Sin(22°)], ,| U
T
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TrigonometryExercise4 for No.9711
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Nol =

No3 =
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.4 =Tan(165%)

.5 =Sin| — 6=
12

17nj
8=

.2=Cos(75°%)

, No2 =
Cot((-285)%)

Sec((-345)°)

[ 11
.1=Sin(

18

Tan| — | — Tan| —
5 15

3=
27 b
1+ Tan| — | Tan| —
5 15

Tan(35°) + Tan(10°)

1 — Tan(35°) Tan(10°)

T
2 Tan(—j
_ \8)

2
b

1—Tan| —
8

2
2=2Cos(225°) -1

2 2
4=Cos(15°) —Sin(15°)

.6=Cos(55°) Cos(10°) + Sin(55°) Sin(10°) |

i 2
S=1-2 Sinl—]
8

b
9=2 Sln( J Cos[—j
12 12

[

s Y
A4=0,B=—,C=—,D :n}
2

2
4 -2
Sin(a) = ;) Cond?2 = [COS(B) :;H

, No4 =

.10 =Cos(18%) Cos(12°) — Sin(18°) Sin(12°)

[ 3n 311 i
A:—B 2n,C=n,D=
2 2

[Cond] (Sm(a)— j Cond?2 = [COS(B):gﬂ

=Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(P)
=Tan(a) 4 =Sin(a - B) 3 =Tan(P) 4 =Sin(a + )
S5=Cos(aa+fB) .6=Tan(f—-a) S=Cos(aa—B) .6=Tan(f—-a)
L .7=Cos(2B) .8§=Tan(2 o) ] L .7=Sin(2 o) .8=Tan(2 P) i
M
No5 =[ Cond = (Cos(80°) = 0.174), Question = Sin(40°)], ,| U
T
M
No6 =[ Cond = (Cos(34°) = 0.829), Question = Cos(17°)], ,| U
T
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TrigonometryExercised4 for No.9784
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.1 =Cos(15”) —Sin(15") .2=Sin| — | Cos| —— |+ Cos| —— | Sin| — V
18 9 18 9 s
Sw b3
Tan(—j—Tan(—] LLS 1]
[ AN 3= 18 Y 4= Cos(20°) Cos(10°)  Sin(20°) Sin(10° &
.1 =Sin(105°) .Z:COS[—j 7= S o) 4= Cos(207) Cos(107) = Sin(207) Sin(10°) al
12 1+ Tan| — | Tan| g u
.3 =Tan(75° .4 =Csc((-15)°
Nol = (13n) . 77)5) p No2 = Y 2 e _2Tan(225%) S
.5:Sec( ) .6:C0t£——) .5=2S8Sin ” Cos| n 6= 5 h
12 12 1 — Tan(22.5°%) @
L.7=Tan((-195)°) .8=Cos((-165)%)] Tan( 12°) + Tan(33°) R R ) o o M
= .8 =Cos(70”) Cos(10”) + Sin(70”) Sin(10") U
1 — Tan(12°) Tan(33°)
2 LL T 1]
. T o 2 .
.9:1—251n(§j 10=2Cos(22.5°) -1 2
L - '.(
)
— - — - ( -
[ b T } [ 3n 375}
A=0,B=—C=—D=n A=—B=2nC=nD="—"
2 2 2 2
2 . 4 5 . -1
[Cond] = (Cos(on) = —j, Cond?2 = (Sm(B) = —H [Cond] = (Cos(on) = —j, Cond?2 = (Sm(B) = —H
No3 = 3 S Nod = 7 3
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(P)
3 =Tan(a) 4 =Sin(a + B) .3=Tan(a) 4=Sin(f-a)
S=Cos(aa—fB) .6=Tan(f—a) S=Cos(aa—P) .6=Tan(a+p)
L .7=Sin(2 B) .§=Tan(2 a) ] L .7=Cos(2B) .8=Tan(2 a) ]
M
No5 = [ Cond = (Cos(38°) = 0.788), Question = Sin(19°)], ,| U
T
M
No6 =[ Cond = (Cos(16°) = 0.961), Question = Cos(8°)], ,| U
T
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TrigonometryExercise4 for No.10143
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(7 . 1—Tan(ll anan[lj 18 9 18 9 @
.1 =Sin E .2=Cos(75) 60 15 TevaN
7 I
No = .3:Tan(ij .4:Cot(——n) No2 2Tan(8] C;
ol = 12 12 /), Noz = S 6= Cos(40°) Cos(20°) — Sin(40°) Sin(20°) |
.5=Cos(165%) .6 =Csc(285%) P h
237 197 1= Tan| = @
.7 =Tan| —T = Sec| — 2 ) 5 M
- - .7=Co0s(22.5°) —Sin(22.5°) .8=Cos(80°) Cos(20°) + Sin(80°) Sin(20°) U
(19 nj ( i j LL 7 1]
Tan Tan|
o2 15 2
9=1-2Sin(15°) o
1+Tan( jTan( j 2
L
[ T 3n} [ 3w b }
A=0,B=—",C=n,D="" A=—B 2n,C=—",D=mn
2 2 2 2
. 5 -3 . -3 -2
Condl =| Sin(at) =~ |, Cond2 =| Cos(B) =" Condl =| Sin(a) =— |, Cond2 =| Cos(B)="T"
No3 = 6 4 . Nod = 7 3
.1=Cos(a) .2=Sin(P) 1=Cos(a) .2=Sin(P)
3 =Tan(a) 4 =Sin(a - B) 3 =Tan(P) 4 =Sin(a + )
S5=Cos(aa+fB) .6=Tan(f—-a) S=Cos(aa—B) .6=Tan(f—-a)
L .7=Cos(2B) 8=Tan(2 o) ] L .7=Cos(2 ) 8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(36°) = 0.809), Question = Sin(18°)], ,| U
T
M
No6 =[ Cond = (Cos(82°) = 0.139), Question = Cos(41°)], ,| U
T
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TrigonometryExercise4 for No.10359
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[Cond] = (Sin(a) = %), Cond?2 = (Cos( B)= %)}

.1 =Cos(a)
3 =Tan(a)
5 =Cos(a—B)
.7=Sin(2 B)

No5 = [ Cond = (Cos(64°) = 0.438), Question = Sin(32°)],

No6 = [ Cond = (Cos(42°) = 0.743), Question = Cos(21°)],

.2=Sin(B)
.4 =Sin(a + B)
LH=Tan(f—a)

S=Tan(2 o)
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2
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2 2
.6=Cos(22.5°) — Sin(22.5°)

2
.8=2Cos(15°) —1

.10 = Cos(57°) Cos(12°) + Sin(57°) Sin(12°)

i Y
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2

.1 =Cos(a)
3 =Tan(P)
.5 =Cos(a—PB)
.7=Cos(2B)
M
U
T
M
U
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31
C=n,D=—""
2

.2=Sin(B)
4=Sin(f-a)
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TrigonometryExercise4 for No.10626
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9=2Cos| —| -1 10 =Cos| — |Cos| — |+ Sin| — | Sin| — T
L 8 18 9 18 9) ] L4
2
o
2
— - — - ( -
[ T b } [ 3n 315}
A=0,B=—C=—D=n A=—B=2nC=nD="—"—
2 2 2 2
. 1 -5 3 . -1
[Condl = [Sm((x) :—], Cond?2 = (COS(B) :—H [Cond] = (Cos(oc) = —], Cond?2 = [Sm(B) = —H
No3 = 3 91 No4= 5 2
.1 =Cos(a) .2=Sin(PB) .1 =Sin(a) .2=Cos(B)
.3=Tan(B) .4 =Sin(a - B) 3 =Tan(P) .4 =Sin(a - )
S=Cos(Bp—a) .6=Tan(a+f) S=Cos(p—a) .6=Tan(a+f)
L .7=Cos(2 a) .§=Tan(2 B) ] L .7=Cos(2B) .8=Tan(2 o) ]
M
No5 =[Cond = (Cos(10°) = 0.985), Question = Sin(5°)], ,| U
T
M
No6 =[ Cond = (Cos(40°) = 0.766), Question = Cos(20°)], ,| U
T
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TrigonometryExercise4 for No.11002

)
A
- P
1ln T (1=} (= 2 Tan(22.5°%) 14
.1 =Cos 36 Cos E + Sin| ? Sin E 2=, S
- - 1 — Tan(22.5°) S
I=Cos(15°) 2= Sin| n n n e
1= Cos(157) <= om 12 3= Cos( )COS[ j Sln[ JSm( ] 4=2 Sln( jCOS( ] &
15 10 15 10 12 12 M
T 231 2 )
-3 = Tan| E 4 =Cot| — 12 .5=Cos(15°) —Sin(15°) .6 =Sin(12°) Cos(33°) + Cos(12°) Sin(33°) a
Nol = 2 No2 = 5 - 2 B ) !
5=Cos(195°) 6= Csc( ) 7=2Co0s(22.5°) -1 8=1-2 SinE—] h
12 8 @
Sn 7n Sn M
.7=Tan(165°) .8=Sec| ——— Tan| — |+ Tan| —
= 12 )] 36 36 . o o o : o U
9= .10 =Sin(85") Cos(25”) — Cos(85") Sin(25")
7n 5n LLT 1]
1 —Tan| — | Tan| —— :
i 36 36 1 )
A
)
L
T 3n 3n T
A4=0,B=—C=—,D=21 A=n,B=—,C=—D=n1n
2 2 2 2
1 -1
[Cond[ (Cos((x)——) Cond?2 = (Sm(ﬁ)— H [Cond] (Sm(a)— j Cond?2 = [COS(B):_j:|
No3 = 2 ., Nod= 2
.1 =Sin(a) .2=Cos(PB) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4=Sin(a+B) 3 =Tan(a) .4 =Sin(a - )
S=Cos(p—a) .6=Tan(a—B) S=Cos(aa+B) .6=Tan(f—-a)
L .7=Cos(2B) 8=Tan(2 o) ] L .7=Cos(2B) S=Tan(2 o) ]
M
No5 = [ Cond = (Cos(56°) = 0.559), Question = Cos(28°)], ,| U
T
M
No6 = [ Cond = (Cos(34°) = 0.829), Question = Sin(17°)], ,| U
T
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TrigonometryExercise4 for No.11188

)
_J—S' [L)C (S_RJ ¢ (LJS' (S_RJ 2= Sin(65°) Cos(20°) — Cos(65°) Sin(20° | S
.1 =Sin 36 0s| 36 + Cos 36 in| 36 .2=Sin(65") Cos(20”) — Cos(65) Sin(20") I];
.3=Cos(22.5°) — Sin(22.5°) A4=1-28in .
1=Sin(105°) 2= COS(%) ’ Tan(gj _ ;’; -
. ( 7nj S=——3 .6 =2 Sin(15%) Cos(15°%) 4
NoJ = .3 =Tan(75°) 4=Cot| - 12 ) | Noz= 1_Tan[£j o ;
. 137 8 h
5 =Csc((-165)") .6=Cos ” 47:2C0S£—J . . Tan(80°) — Tan(20°) @
|.7=Tan((-255)°) .8=Sin((-285)°)] 12 1 + Tan(80°) Tan(20°) 1‘5
Tan(4—nj+Tan£lj LL 7 1]
15 15 Tn b (Tn) [ m )
9= 10= COS(_] COS(_j + sm(—J Sln[_) 2)
4n T 36 36 36 36 -
1- Tan(—] TanL—J o(
L 15 15 ] 5
L (]
R [ e o
A=0,B=—,C=—D=21 A=n,B=—,C=—D=n1n
2 2 2
[comar=[cosar=g) com=(smp =3 | cor={cotan= | conz = s <3
Condl =| Cos(a) =7 |, Cond2 =| Sin(B) =" Condl =| Cos(at) =", Cond2 =| Sin(B) ="~
No3 = 3 9 | Nod = 5 4
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(PB)
3 =Tan(a) .4=Sin(a - B) 3 =Tan(P) .4 =Sin(a - )
S=Cos(Bp—a) .6=Tan(a+f) S=Cos(aa+B) .6=Tan(f—-a)
L .7=Cos(2B) .§=Tan(2 a) ] L .7=Cos(2 ) .8=Tan(2 o) ]
M
No5 =[Cond = (Cos(42°) = 0.743), Question = Cos(21°)], ,| U
T
M
No6 = [ Cond = (Cos(10°) = 0.985), Question = Sin(5°)], ,| U
T
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TrigonometryExercise4 for No.11505

)
G
- ~ P
.1 =Sin(100°) Cos(10°) — Cos(100°) Sin( 10°) .2=21Sin(22.5°) Cos(22.5°%) vV
2 2 ﬂ: 2 S
-~ ~ .3=Cos(15°) —Sin(15°) 4=2Cos| —| -1 LS 1]
I=C (”j 2=Sin(75%) ’ &
1 =Cos| 7 .2 =Sin 5 o
12 Tan(—nj - Tan(EJ Tan(LJ + Tan(LJ M
; T[nj . C[SRJ s 18 9 B 15 10 a
.3=Tan| —— 4=Cos| ——— D= 0=
_ _ 5
Nol = 12 12.)} No2 = 1+ Tan(—nj Tan(ﬂj 1- Tan(iJ Tan(iJ g > !
o Iln 18 9 15 10 h
.5 =Sec((-345)°) .6=Cot| — B 2 Tan(22.5%) . . . o . @
o o A .8=Sin(35") Cos(25") + Cos(35") Sin(25") M
.7 =Tan((-285)°) .8=Csc(255°) | 1 — Tan(22.5°) U
2
T T i T b LL T ]
9= Cos(—] Cos[—j - Sin(—J Sin(—J A0=1-2 Sin(—J .
I 12 6 12 6 12 l )
o
2
L
b 3w T 3n
A=0,B=—C=n,D="—" A=—B=n,C=—"—D=2n
2 2 2 2
2 . -1 -3 ) -4
[Cond[ = (Cos((x) :—J, Cond?2 = (Sm(ﬁ) :—H [Cond] = (Cos(on) :—), Cond?2 = (Sm(ﬁ) :—H
No3 = 3 20 No4= 4 9
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4 =Sin(a - ) 3 =Tan(P) 4=Sin(f-a)
S=Cos(aa+fB) .6=Tan(fp—a) S5=Cos(aa—B) .6=Tan(a+ )
L .7=Cos(2B) .8§=Tan(2 o) ] L .7=Cos(2B) .8=Tan(2 o) J
M
No5 = [ Cond = (Cos(46°) = 0.695), Question = Sin(23°)], ,| U
T
M
No6 =[ Cond = (Cos(10°) = 0.985), Question = Cos(5°)], ,| U
T
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TrigonometryExercise4 for No.12113

Nol = 7 o b No2= 36 36 ,
.5 =Sec —? .6=Csc((-75)") - - 2 Tan(15°%)
47:2Sin(§] Cos[g] == 3
.7:Tan(—lj .8=C05[23nj I = Tan(15%)
: 12 12/ Tan(35°) - Tan(5%) En JZ , En JZ
= 10=Cos| —| —Sin| —
L 1 + Tan(35°) Tan(5°) 12 12 7
[ [ b b3 } i I [ 3n 3w } ] _ _
A=0,B=—C=—D=n A=n,B=—C=—D=21
2 2 2 2
o= {13 conz=(comr=3] ]| com <[ ot contz=[ s -5
Condl =| Sin(a) =7 |, Cond2 =| Cos(B) =" Condl =| Cos(at) =—"|, Cond2 =| Sin(B)=—"
No3 = 3 401 No4= 7 6
.1=Cos(a) .2=Sin(P) .1 =Sin(a) .2=Cos(B)
.3=Tan(pB) 4=Sin(f-a) 3 =Tan(P) .4 =Sin(a - )
S5=Cos(aa+fB) .6=Tan(a—B) S=Cos(aa+B) .6=Tan(f—-a)
L .7=Sin(2 B) .8=Tan(2 o) ] L .7=Sin(2 B) .8=Tan(2 o) |
M
No5 = [ Cond = (Cos(68°) = 0.375), Question = Sin(34°)], ,| U
T
M
No6 =[ Cond = (Cos(22°) = 0.927), Question = Cos(11°)], ,| U
T
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.1 =Cos(15) .2=Sm[—j

.3 =Tan(105°)

.1 = Cos(20°) Cos(10°) — Sin(20°) Sin(10°)

2
3=1-28in(15°)

2
2=2Co0s(22.5%) -1
2

i

4=

12
Sin((-285)°)

S= Sin(

13n b

Jol)-co

13n

)

2n b ) T .
4=Cos| — | Cos| = |+ Sin| — | Sin| —
5 15 5 15
. b b Sn) (=m
.6 =Sin| — | Cos| 7 |+ Cos| — | Sin| —
18 18 18 18
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TrigonometryExercised4 for No.12541

_ - _
1 Sin(l—J .2=Cos(15%)
S5n T
3= Tan( j 4= Tan[— —j
Nol = 12) |, No2 =
.5=Cot(195°) .6=Csc((-105)°)
7= Sec( j .8=Sin(285%)
i I
[A =0,B="
2

No3 =
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[

.1 =Sin(a)
3 =Tan(a)
5 =Cos(a—B)
.7=Cos(2 B)

No5 =

No6 =

b b
Tan(—] + Tan(—]
9 18

- b
1- Tan[—j Tan[—
9

T
18

2
3=1-28in(22.5°)

2 Tan[

i 2
9=2 Cos(—J -1
8

37 }
,C=—",D=2mn
2

.2=Cos(B)
.4 =Sin(a + B)
LH=Tan(f—a)

S=Tan(2 o)

)

, No4 =

.5=Cos| — | Cos| — |+ Sin| — | Sin| —
9 9 9 9
LJ
12
2
T
l—Tan(—J
12

2=l gJool ) eof )il )

Tan(57°) — Tan(12°)
1 + Tan(57°) Tan(12°)

2 2
.6=Cos(15°) —Sin(15°)

.8 = Cos(80°) Cos(10°) — Sin(80°) Sin( 10°)

T
10=2 Sln( jCos[ )
12 12

i 37 i
A:—,B:n,C:n,D:T

2
[Cond] = (Sin(a) = gj Cond?2 = (COS(B) = glﬂ
1
3

[ Cond = (Cos(44°) = 0.719), Question = Cos(22°)],

[ Cond = (Cos(64°) = 0.438), Question = Sin(32°)],

=Cos(a) .2=Sin(P)
=Tan(P) 4=Sin(f-a)
S5=Cos(aa—B) .6=Tan(a+ )
.7=Sin(2 o) .8=Tan(2 ) ]
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4 T B
Tan| — |+ Tan| —
15 15
47 b
1 —Tan| — | Tan| —
15 15

Tn ] L
.I:Sin[_j .2=Cos(75°) S
12 .3 =Sin(35%) Cos(5°) — Cos(35°) Sin(5°) 4=2Cos| — | -1

.1=28in(22.5%) Cos(22.5°)

Lo i NS~ Eruu SR

12

o Sn
.3 =Tan(15%) .4—Cos[— 12) (n 2 1 i (x) (=
Nol = 2 , No2 = .5=1—2$1ng .6 =Cos 36 Cosg + Sin 36 Smg , ,
.5 =Sin((-285)°) 46:Csc( ] o R
12 Tan(72°) — Tan(12°) o2 o2
197 7= 5 O .8="Cos(15%) —Sin(15%)
7= Cot((-15)°) .8:Sec( 5 ] 1 + Tan(72°) Tan(12%)
) - 2Tan% 7]
= .10 =Cos(35°) Cos(10°) — Sin(35°) Sin(10°)
1—Tan(lj
L 12 |
[ P ] i T 3w i
[A:O,B——,C:—,D:Zn} [A:—,B:R,C:R,D:—}
2 2 2
2 . -1 . 5 -2
[Condl = [Cos(a) =_1|, Cond2 = (Sm(B) :—H [Cond] = (Sm(a) :—j, Cond?2 = (COS(B) :—H
No3 = 7 2 | Nod = 8 7
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2 =Sin(PB)
.3=Tan(B) 4 =Sin(a + B) 3 =Tan(P) 4 =Sin(a + )
S=Cos(Bp—a) .6=Tan(a—f) S=Cos(p—-a) .6=Tan(a—p)
L .7=Sin(2 B) S=Tan(2 o) ] L .7=Cos(2 o) 8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(50°) = 0.643), Question = Cos(25°)], ,| U
T
M
No6 = [ Cond = (Cos(26°) = 0.899), Question = Sin(13°)], ,| U
T
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X

Pl
.1 =Cos(40°) Cos(20°) — Sin(40°) Sin(20°) .2=Cos(40°) Cos(10°) + Sin(40°) Sin(10°) P
2 2 v
T T
.3 :Cos(—J - Sin(—J .4 =Sin(102°) Cos(12°) — Cos(102°) Sin(12°) S
12 12 S
i P ) (m b ) 02 "&_
.1 =Cos(75°%) 2 =Sinl — .5 =2Sin| — | Cos| — .6=1-2Sin(15%) &
12 8 8 M
7 T T
Noj _| 3= Tan(105%) .4=Sin(—1—;) Moz — , Tan(g]+Tan(E] ‘;
or= S Con( 165 6 Coor 151 | 0c= 7=2Cos(22.5°) 1 8= : N
= = - T T
' os( ) - se((-15)7) l—TanL—] Tan(—] @
19 7 . 6 12
.7 ="Cot| I .8=Sec((-345)") n M
- - 2Tan(—J U
(13 = b Ba) (=« 8
.9=Sin| —— | Cos| = |+ Cos| ——— | Sin| = A)=—"7 LLT]
30 15 30 15 - 2 2
l—TanL—] -
L 8 o
2
L
b b 3n 3n
A=0,B=—C=—D=n A=n,B=—C=—D=2n
2 2 2
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No3 =

{Condl = [Cos(a) =

BN S ENNY
~—

, Cond2 =

VD

) 1
]

, No4 =

[

Condl = [COS(OL) = ;4] Cond?2 = [Sin( B)= ZIH

.1 =Sin(a) .2=Cos(PB) .1 =Sin(a) .2=Cos(B)
.3=Tan(pB) 4=Sin(f-a) .3=Tan(a) 4=Sin(f-a)
S5=Cos(aa—fB) .6=Tan(a+ ) S=Cos(aa+P) .6=Tan(a—p)
L .7=Sin(2 B) .8=Tan(2 o) ] L .7=Sin(2 B) 8=Tan(2 ) ]
M
No5 =[ Cond = (Cos(34°) = 0.829), Question = Cos(17°)], ,| U
T
M
No6 = [ Cond = (Cos(8°) =0.990), Question = Sin(4°)], ,| U
T
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TrigonometryExercised4 for No.12641

_ 9 _
e
P
B 2 2 2 ] VvV
T (= T
.]:Cos[—] —Sln(—] .2:2Cos(—) -1 S
8 8 12
_ _ LLS 1]
o (5m —sinl 2 | cod = Im g = 4o o &
.1 =Cos(105%) .2=SIHE .3 = Sin| 30 Cos 15 — Cos 30 Sin 15 .4 =Cos(55”) Cos(10”) + Sin(55”) Sin(10") SIS
2 Tan(22.5° 2
,3:Tan(ij ,4:(;30(_ 23“] .5=(—)2 6=1-28Sin(22.5°) ft’
Nol = 12 12 )|, No2 = 1 - Tan(22.5°) , s
. o 23n Tn b3 h
5 =Sin((-165)") .6=Sec ” . . Tan[—J—Tan(—J @
; Tan(35”) + Tan(10%) 18 18 M
|.7=Tan((-285)°) .8=Cot(195°) | = 5 o 0= 7
1 — Tan(35°) Tan(10°) 1+Tan(_nj Tan[ij U
18 18 LL 7 1]
L.9=Cos(12°) Cos(48°) — Sin(12°) Sin(48°) .10=2Sin(15°) Cos(15°) ] 2)
o
)
L
T 3n T 3w
A=0,B=—C=—,D=2n A=—B=nC=nD="—"
2 2 2 2
4 . -3 -3 ) -4
Condl =| Cos(a) =~ |, Cond2 =| Sin(B)=—" Condl =| Cos(at) =—"|, Cond2 =| Sin(B) ="
No3 = 5 401 No4= 7 5
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4 =Sin(a - ) 3 =Tan(a) 4=Sin(f-a)
S=Cos(aa+fB) .6=Tan(fp—a) S5=Cos(aa—B) .6=Tan(a+p)
L .7=Sin(2 B) 8=Tan(2 o) ] L .7=Cos(2 o) 8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(80°) = 0.174), Question = Sin(40°)], ,| U
T
M
No6 =[ Cond = (Cos(12°) = 0.978), Question = Cos(6°)], ,| U
T
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TrigonometryExercised4 for No.12674

)
A
-~ ~ P
2
1=1-28Sin(15%) .2=Sin(75°) Cos(15°) + Cos(75°) Sin( 15°) 4
(7n n Tn) (= Tan(85°) — Tan(25°) s
_ - .3=Sin| — | Cos| —— |- Cos| —— | Sin| 7 4= LLS 1
s (= 30 15 30 15 1 + Tan(85°) Tan(25°) &
.1 =Cos(75) .2=Sin E . R
2Tan[—j . . M
o b3 8 Tan(15”) + Tan(30") a
.3 =Tan(105%) .4 =Tan| —— S=—7 6=
Nol = 12) |, No2= T 1 — Tan(15°) Tan(30°) SN !
.5=Cos((-165)°) .6=Sin((-195)°) 1 — Tan| = h
19 7 B 2 2 @
.7 =Cot .8 =Csc| 17w b (1Tn) [ m T (mw M
L 12 12 ) | .7=Cos Cos| — |+ Sin Sin| — .8=Cos| —| —Sin| —
30 15 30 15 8 8 U
T i 2 LLT 1]
.9=2S8in — | Cos| 10=2Cos(22.5%) -1 .
i 12 12 ] )
o
2
L
b T 3w 3n
[A:O,B:—,C:—,D:n} [A:—,B:ZTC,C:TE,D:—}
2 2 2 2
1 . 4 . -4 -4
Condl =| Cos(a) =7 |, Cond2 =| Sin(B) =" Condl =| Sin(at) =— |, Cond2 =| Cos() ="
No3 = 3 S Noa = ) 3
.1 =Sin(a) .2=Cos(PB) .1 =Cos(a) .2=Sin(B)
.3=Tan(pB) 4 =Sin(a - B) 3 =Tan(P) 4=Sin(f-a)
S=Cos(aa+fB) .6=Tan(f—a) S=Cos(aa+P) .6=Tan(a—P)
L .7=Cos(2B) 8=Tan(2 o) ] L .7=Cos(2B) 8=Tan(2 o) ]
M
No5 = [ Cond = (Cos(34°) = 0.829), Question = Sin(17°)], ,| U
T
M
No6 =[ Cond = (Cos(86°) = 0.070), Question = Cos(43°)], ,| U
T
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TrigonometryExercise4 for No.12728

)
(n b1 27 b1 NEXATNER o
.1 =2Sin| — | Cos| — .2=Cos| — | Cos| — | + Sin| — | Sin| =— P
8 8 5 15 5 15 y
T 47 ) T . 4 o 2 . o 2 S
.3=Cos| = |Cos| — |- Sin| — | Sin| —— .4=Cos(15”) —Sin(15")
i i 18 9 18 9 s ]
0 [ _— &
1=Cos(1057) .2=Sin 7 5= Sin(30°) Cos(15°) + Cos(30°) Sin( 15°) .6:2COS(EJ -1 T
3T(5—nj4s[23nj n n ¢
Not=| 7T 12 ) T 12 ) Ne2= Tan(g)”an(ﬁ] . RN
.5=Sin((-285)°) .6=Cot((-105)%) = N 8=1-28in(22.5%) h
b o 1- Tan(—) Tan(—) @
7=Cs -7 .8=Cos(345%) 15 10 M
o o 2Tan(—J v
Tan(50) — Tan(20") 12 LL 7 1]
9= do=—"7 ,
1 + Tan(50°) Tan(20°) n J
1 —Tan| —/ o
) ) )
L N
T T 37 3n
A=0,B=—C=—D=n A=m,B=—,C=""—D=2n
2 2 2 2

[Cond] = (Cos(on) = lj Cond2 = (Sin(B) = EH [Cond] = (Sin(a) :ﬁj, Cond2 = [COS(B) :ln
No3 = 4 341 Noa = 3 4
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(P) 4=Sin(f-a)
S=Cos(aa—B) .6=Tan(a+f) S=Cos(aa+P) .6=Tan(a—P)
L .7=Sin(2 B) .§=Tan(2 a) ] L .7=Sin(2 o) .§=Tan(2 B) ]
M
No5 = [ Cond = (Cos(40°) = 0.766), Question = Sin(20°)], ,| U
T
M
No6 = [ Cond = (Cos(78°) = 0.208), Question = Cos(39°)], ,| U
T
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